## IC Burden Analysis Table (XXXX) XXXX-XXXX vX

Please enter Name of Instrument here.							
Respondent Type	# of Respondents	# of Responses	Hours/Response	Total Burden Hours	Reporting Requirement	Cost per Repondent	Total Costs per Respondent
Burden by Affected Entity:							
Federal Government	0	C	0	С		\$0	\$0
Individuals or Households	0	C	0	C	)	\$0	\$(
Farms	0	C	0	C		\$0	\$(
Sub-total	0	C	_	C	2		\$0
Private Sector							
Business or other for-profits	0	C	0	С		\$0	\$(
Not-for profits	0	C	0	C	)	\$0	\$(
Sub-total	0			<u>C</u>			\$(
State, Local, or Tribal Governments							
Public Institutions	0	C	0	C		\$0	
Private Institutions	0	C	0	C		\$0	\$(
Sub-total	0	C	<u>)</u>	<u>C</u>	<u>)</u>		j
Total	0	0		0			\$(
CURRENT INVENTORY							
Current # of Respondents	0						
Current # of Responses		С	)				
Current Inventory of Hours				С	)		
Difference	0	0		0			
Document Type							
Available Electronically?							
Can be submitted Electronically?							
Percent Reporting Electronically?							
Obligation to Respond?							
Frequency?							

IC Burden Analysis Table (XXXX) XXXX-XXXX vX

## IC Burden Analysis Table (04752) 1845-0084 v3

IC Title	Affected Public	Reporting Requirement	Available Electronically	Can be Submitted Electronically	Percent Reporting Electronically	Electronic Capability	Obligation to Respond	# of Respondents	# of Responses	Hrs/Resp	Total Hours
686.4 Institutional Participation	For-Profit Institutions	Reporting	No	No	0%		Required to Obtain or Retain a Benefit	1	1	6.5	6.5
686.4 Institutional Participation	Not-for-profit Institutions	Reporting	No	No	0%		Required to Obtain or Retain a Benefit	2	2	6.5	13
686.4 Institutional Participation	State, Local or Tribal Governments	Reporting	No	No	0%		Required to Obtain or Retain a Benefit	2	2	6.5	13
686.11 Eligibility to receive a grant	Individuals or Households	Recordkeeping	Yes	Yes	95%		Required to Obtain or Retain a Benefit	13	13	0.33	4
686.11 Eligibility to receive a grant	For-Profit Institutions	Recordkeeping	Yes	Yes	95%		Required to Obtain or Retain a Benefit	1,992	2,016	0.062	125
686.11 Eligibility to receive a grant	Not-for-profit Institutions	Recordkeeping	Yes	Yes	95%		Required to Obtain or Retain a Benefit	105,569	106,694	0.062	6,615
686.11 Eligibility to receive a grant	State, Local or Tribal Governments	Recordkeeping	Yes	Yes	95%		Required to Obtain or Retain a Benefit	91,626	92,581	0.062	5,740
686.32 Counseling requirements	Individuals or Households	Recordkeeping	Yes	Yes	90%		Required to Obtain or Retain a Benefit	30,000	30,000	0.33	
686.32 Counseling requirements	For-Profit Institutions	Recordkeeping	Yes	Yes	90%		Required to Obtain or Retain a Benefit	10	10	11.15	112
686.32 Counseling requirements	Not-for-profit Institutions	Recordkeeping	Yes	Yes	90%		Required to Obtain or Retain a Benefit	515	515	11.15	5,742

Revised 11/8/2011 3

## IC Burden Analysis Table (04752) 1845-0084 v3

-	-									
686.32 Counseling requirements	State, Local or Tribal Governments	Recordkeeping	Yes	Yes	90%	Required to Obtain or Retain a Benefit	446	446	11.15	4,973
686.34 Liability for and recovery of TEACH Grant overpayments	Individuals or Households	Recordkeeping	No	No	0%	Required to Obtain or Retain a Benefit	25	25	0.167	4
686.34 Liability for and recovery of TEACH Grant overpayments	For-Profit Institutions	Recordkeeping	No	No	0%	Required to Obtain or Retain a Benefit	10	10	0.33	3
686.34 Liability for and recovery of TEACH Grant overpayments	Not-for-profit Institutions	Recordkeeping	No	No	0%	Required to Obtain or Retain a Benefit	515	515	0.33	170
686.34 Liability for and recovery of TEACH Grant overpayments	State, Local or Tribal Governments	Recordkeeping	No	No	0%	Required to Obtain or Retain a Benefit	446	446	0.33	147
					0%					(
					0%			i		(
					0%					
					0%					
					0%					
					0%					(
					0%					
					0%					(
					0%					(
<u>Total</u>			-	-			231,172	233,276		33,568
CURRENT INVENTO Current # of Respond Current # of Respond Current Inventory of	dents ses					=	<u>207,347</u> =	211,097		<u>35,695</u>
Difference	<del></del>					_	23,825	<u>22,179</u>		(2.127)

Revised 11/8/2011

## IC Burden Analysis Table (04752) 1845-0084 v3

IC Title	Instrument Filename	Frequency	Number of Respondents	Cost Per Respondent	Total Cost Per Respondent
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0 \$0
					\$0 \$0 \$0
					\$0
					\$0
					\$0 \$0 \$0 \$0 \$0 \$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0
					\$0 \$0 \$0
					\$0
Total Costs		<del>-</del>	_	-	<u>\$0</u>

Revised 11/8/2011